
Oops! Below is a worked solution to a question 
that I feel you could have gained more marks on .. 

FACEPALM!! 

NOW HAVE A GO AT THIS:  

Lisa uses a grid to multiply 37 by 25 

 

 

 

 

 

     600 + 140 + 150 + 35  = 925 

        Answer = 925 

 

Now Lisa multiplies two different numbers.  

Complete the grid then give the answer below 

 

 

 

 

 

 
Answer: ______ 

(3) 
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x 20 3 

10 200 30 

5 100 15 

x _____ 3 40 

30 _____ _____ _____ 

_____ 600 18 _____ 

2007 SATs P1 L3-5 Q17, L4-6 Q10, L5-7 Q2 

Lisa uses a grid to multiply 23 by 15 

 

 

 

 

 

     200 + 100 + 30 + 15  = 345 

        Answer = 345 

 

Now Lisa multiplies two different numbers.  

Complete the grid then give the answer below 

 

 

 

 

 

 
Answer: ______ 

(3) 

x 30 7 

20 600 140 

5 150 35 

x _____ 4 60 

40 _____ _____ _____ 

_____ 800 32 _____ 

 


